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F5 W4 R Jit JB 7% v, 3 LREE T R 4 e 2 E(MVA) = I AR B (M)
1 (w2 % eI i % 220KV 150 33.999
2 WA m BT/ A#ER el i % 220KV 150 35.4323
3 |wlgwEw)l gwEfEd )4k % 220KV 240 19.4778
4 | maEv )| A/ LR )4k % 220KV 240 19.3111
5 | W) AE B O AR B2 EE Pl % 220KV 150 23.4664
6 |w)l s BE/AFEST )1 AR % 220KV 150 22.5254
7 WA B L2 E R 1)1 A4 % 220KV 180 32.8602
8 I AL B LA R /LR R B 7914 4 1l % 220KV 180 25.8829
9 |mW.ZEW).ZE/2#E% 79l % & % 220KV 150 28.4974
10 |mwl. 2B W) ZE/1#E% 7). % % 220KV 150 28.0559
11 W) R R/ 1 R B 9 IR A % 220KV 180 18.7154
12 |m wekofs E s )| R A % 220KV 180 21.7467
13 | WIS NS /3% e 79I XX % 220KV 180 67.4661
14 [/ Sl . X /24 & 2 79N 5 % 220KV 180 67.7413
15 | FHEWN.FE24FE% ) & % 220KV 180 45.2747
16 |W.FHEW).FHE/IFER ) & % 220KV 180 44.2191
17 (W= %Wl 2 ®/3HE E 2 I E & % 220KV 180 24.9451
18 (W) Z km)l.x W E B I E & % 220KV 180 24,7117
19 |WILRHASR WK HFK/2HEEE IR H 3k % 220KV 180 80.1872
20 |09 K H 3w LK /LR JE B L& H# %k % 220KV 180 80.1872
21 |m)l.esEm)| e/ E & ). e % 220KV 150 24,4422
22 W eS| AL ES ). e % 220KV 120 18.231
23 |220kVEE F 0T Ar v 3k 00 )1 S B /24 R B | 220kVEE T Ap v 3k % 220KV 180 33.9222
24 | 200KVEE Z T A v 3k 0y | B F /LR JE R | 200KVEE F T 3k % 220KV 180 29.2111
25 |B A F3E B AT ER JB ol k= 3k # 110kV 40 31.4462
26 | B A FE B A E /I ER Bl & = 3k % 110kV 40 31.4276
27 |B\.FAE L FANAEE Bl A % 110kV 50 48.8128
28 |BW.EANE L. FAEHFLESR Bl A % 110kV 50 48.8549
29 |B\L.EAsE L FAEAREE Bl Ak % 110kV 40 39.9063
30 [B . FAsE B B ER BBl F AT % 110KV 40 39.8767
31 | Bl KAEsE B L KAESE/ 24 £ % JB 1l K AE 3k % 110KV 50 44.7579
32 | Bl KAESE B L KAESE/ 1 E & JB 1l K AE 36 % 110kV 50 45.0947
33 B AR 3SE B L AR 2 E JE AL AR IR % 110kV 50 46.3658
34 B L ARE B L AR eE/ 1 E ERKE S % 110kV 50 46.2816
35 |B.A A B .S E2EESR Bl A A3k % 110kV 63 60.8211
36 |Bil.A k3B LS EN/IFES JB LA 3k % 110kV 40 42.1685
37 B AL E s B L BB E R JB L AL B 3 % 110kV 31.5 32.2316
38 B MEsk BG4 JB 1l A 3k % 110kV 50 43.5517
39 B EsE B L ALEAEE JB L AL 3k % 110kV 50 43.7201
40 |B . B JE3E B L. AR ER JB L. B 3k % 110kV 50 45.3784
41 |B . ZEsE BB A £ Bl Z 3k % 110kV 50 45.6105
42 |B e B3k B s B3R E R JB .o B 3 % 110kV 50 39.2098
43 |Bl BB Bl ER J& .21 B 3k % 110kV 50 39.2308
44 1B A TEEE LB TR BBl BT 3 % 110kV 50 52.9474
45 |B W BT3B LR TR/ FER BBl BT 3 % 110kV 50 40
46 Bl EEs Bl EEwRER ERCES % 110kV 40 415148
47 B =k BB/ EF ERR S % 110kV 63 65.8306
48 | B\l Ak A3 B L AR sk AR £ R JB 1l A A s % 110kV 31.5 26.3463
49 B AR s B AR AL E R JE L AR e sk % 110kV 315 26.3463
50 | B RAE3E B RESEAEE Bl R A3k % 110kV 50 47.1492
51 |BW.RESEBW.REMEE JB Al R 3 % 110kV 31.5 34.4794
52 Bl B LI EAR E JB il )1 3k % 110kV 50 50.9423
53 B bt i 3k /LR R 2R Bl )l 3k % 110kV 50 51.6165
54 | Bl OE %36 B L E XA E R JB 1l OF 23k % 110kV 50 42.2868
55 B WL IE Xk B L E XAl £ & JE L IE ek % 110kV 50 39.8139
56 | Bl AR B L AEARSEAR2 E K B L AE AR % 110kV 63 53.4658
57 | B\ AR B L EEAREAL EF JB L AR % 110kV 31.5 26.7816
58 | B i Ak s B L AR AR E J& Al A AR SR % 110kV 40 29.8392
59 | B b AR B L A AR E & JB 1l AR A 3 % 110kV 40 29.6592
60 |8 b AT 3E B L AR T E /24 JB 1l AT 3 % 110kV 40 42.4351
61 [B LAk B AT sE/1#E R JB 1l AT 3k % 110kV 40 42.8036
62 |8l AAME B L AL £ JB 1l KA 3 % 110kV 50 56.2432
63 |B . ET3E B ETHER JB Al Tk % 110kV 50 40
64 |B L. ETs B L raftlER JB LT % 110kV 50 40
65 | B L. Bkl B L AR AR E R B L F A ok % 110KV 40 37.7887




66 | B L. .mfw/#l % % 110KV 40 37.7887
67 B % 110kV 40 42.8608
68 |8 . % % 110kV 40 44.3673
69 | B 1l.2 % 110KV 40 50.3265
70 |B.#) % 110kV 40 45.0001
71 B EES 1& Bl E IE 1&/2#5 k3 % 110KV 50 50.3263
72 | B EESEB L R /I EE % 110kV 50 50.2158
73 B L. B L s 2 E R % 110kV 50 47.1512
74 B L. X Bl SOE/ 1 E R JB 1l sk % 110kV 50 47.0039
75 |B.g sk B L. B skl £ JB L. B Aesk % 110kV 40 45.492
76 B\ g sk B L. AR E R Bl & fesk % 110kV 31.5 21.1485
77 Bz Pk B s E R JB L3k % 110KV 63 63.8737
78 B L. %P3k B LT/ E JB 1l 3k % 110kV 50 54.6529
79 B KBRS B KB AR 2E A JE A B A sk % 110kV 63 65.7473
80 |B . kBBl ABH/E#ES ERRN % 110kV 40 43.6631
81 |BW. KB B L. KFb/2ES JB .k B 3k % 110KV 50 44,4564
82 [BW.KFB L AKFAHLES Bl ok B3k % 110kV 50 45.0564
83 [BW.XA&3B . XH2HEL JE L X ok % 110kV 40 50.4
84 |BW.XA&EB L. XHEN/NH#EE JB ol X F o % 110kV 40 50.4
85 B . 136 B L. E T3 E % ENN=0RE % 110kV 50 40.1341
86 | B LA T3 B L. EITH#LEE JB il T3k % 110kV 31.5 55.5663
87 | B L R 3 B L KT sk £ R JB LT 36 % 110KV 50 46.6444
88 | A WL T 3k B\ R AL £ JB LU 3k % 110KV 50 46.6444
89 | B . T3 B L AT E JB L AT 3 3k % 110kV 63 70.2918
90 B\ ATk B LTk £ 4 JB LT 3 3k % 110KV 31.5 34.8497
91 B =HFBE L CHEEMEE BBl A= F 3k % 110kV 50 56.5878
92 |BWAHEB L AERHLER JB A= 3k % 110KV 50 56.6299
93 | B LSt B L AR E R JB 1l SR 3 % 110kV 50 55.3474
94 B\ FHAksE Bl AR AL £ & Bl FHiE sk % 110KV 50 54.8273
% | & m.ﬂﬁ*& Rt =S BBl A sk % 110KV 31.5 30.8643
9% Bl g B RESE/LER JB L R g 3k % 110kV 50 46.5061
97 |110kv4x %5&}2 razéz#i F 110KVA] % 7 i 3k % 110kV 63 50.4
98 |1 1O0KVAR4K & i sbiftl £ 4 110KVA] 4 7 w3k % 110kV 63 50.4
99 |110KkV2E s A8 v sb B L. 22 JE /2 E 110KkV2E JE 75 e 3 % 110kV 50 49.6596
100 [110KV=E 5 4 3 B ol 2 JEsb/#Hl £ & 110KV Ji5 25 i 3k % 110kV 50 52.539
101 [110kVC# 4 s sb# 1 £ % 11 OKVT 3 75 i, 3k % 110kV 50 50.5758
102 [110KV7e @ & o sbff 1 £ 4 110KV 3% 75 W 3k % 110kV 50 50.681 1
103 [B . A G3E Bl kT sbARET B L. A3 % 35KV 10 8.0803
104 |B .2 Tk B L. A Db/l £ 4 JB ol kT 3k % 35KV 10 8.0592
105 [JB . A 2% 3b B Wl & 53/ 1 £ & JB il 23k % 35KV 20 15.3555
106 [B . BEA3E B L. BASEAER Bl B A3k % 35KV 20 17.3263
107 [B . ZhsE B EASEAHLER BBl Bk sk % 35KV 8 7.0737
108 | B L. E Ak B E RS EE JB L A i 3k % 35KV 5 5.0037
109 [B . EE3 B L EFEHLER L. E ok % 35KV 20 16.2676
110 Fm Fﬂwéw ﬁ FAH £ 74 ERRE S % 35KV 10 7.4695
111 |BL.BaxsBL.axHl £% RRES % 35KV 10 7.4695
112 | & 1JJ F %iéfé W F KA ER L. K3 % 35KV 10 7.7845
113 [B . BR L3 B L BR L SEARE T JB 1l BR AL 3k % 35KV 10 9.496
114 BBk B B sEA L £ & J& LB L s % 35kV 10 9.5486
115 | B .4 Rk B L4 ROl £ 4 B L4 Rk % 35KV 6.3 5.2848
116 [B .2 H3E B . ZF24E% HE &:5, % 35KV 8 7.5053
117 |B .S F3 B L. 2 F3/1#E% JB L& F 3 % 35KV 6.3 6.4084
118 | Bt K36 Bl S KR E % ERRGE S % 35KV 10 9.3767
119 [B st xsE B s 5k £ 4 BBl R ok % 35KV 10 9.4398
120 | B 336 B L W sk/2f £ 8 JB il 3k % 35KV 10 11.5316
121 | Bl W36 B L W3/ 1 E & JB 1l W 3k % 35KV 8 8.8579
122 | B L. Z N3t B xh.? Yk 2+ & JB L. B I3k % 35KV 10 8.8947
123 | B . BB L. B I £ 4% JB 1l B Ak % 35KV 8 8.7579
124 | BB Rk B L B RIFE/2E R LB RIE 3 % 35KV 10 9.2123
125 F W BFIE BB FIEN R Bl B KIE % 35KV 20 18.9702
126 | B\l K sk B L K Ansk /A2 £ & JB 1l K w3k % 35KV 20 13.3602
127 | B L K Ansk B LR A/l & & JB Al K e 3k % 35KV 10 5.3602
128 | B L. 3 B o s A2 £ 8 JB ALk 3k % 35KV 10 8.0422
129 |B\L.w s B s 3L £ 5 JB 1l 3k % 35KV 8 5.8379
130 Bl E A Bl EASEARE T JB L. 7E Ak % 35kV 8 2.6909
131 | B aEAsE B L E AL EE JB 1l K % 35KV 8 2.8383
132 |B . FEsE B FEMALER JE LTk % 35KV 10 8.8293




133 |B.pFEs2 g £% JB L F 3k % 35KV 20 16.8293
134 | Bl esb B Wl T Bk £ & JB LT 3k % 35KV 6.3 5.5011
135 | Bk 36 B L ok & sb/2ff £ 5 JB Lok A 3k % 35KV 10 10.5121
136 B .k &3 B b AFE/1HER JB 1l ok F 3k % 35KV 10 10.4911
137 | Bl MIs2 s SRR Bl AT 3k % 35KV 10 8.5474
138 | B Mmskl 5 £ 4 52 JB 1l AL 3 % 35KV 10 8.5284
139 | B L g ass B L sk /AT = % JB 1l A 3k % 35KV 10 8.9545
140 | B L. sk B L A ss /A & & B LA A S % 35KV 8 7.0703
141 | B\ B33 B sk £ % JB LA 3k % 35KV 20 21.5661
142 | B b5k B L sk £ % JB 1L A3 3k % 35KV 20 21.7451
143 | B . X gk £ % Bl X E 3k % 35KV 20 19.7053
144 Bl XEE#T EF JB il g 3k % 35KV 20 19.7474
145 1B . # w3k B L. Emsb /L £ % ). % pm 3k % 35KV 10 8.046
146 | B L) sk Bl sk E & BBl sk % 35KV 20 15.0194
147 |8 g TR 3k B LW T shAR2 £ & JE Ay 8 T sk %% 35kV 25 27.0831
148 [B L. g Tl 3k B L Bl skl £ & J& 1l T 3 % 35kV 25 27.1673
149 | B L. KMk B L Rk sE/AF + & B 1l K 3k % 35KV 10 7.7437
150 [B . Z sk B L. & bt/ 2 £ % JB . % Bk % 35KV 8 8.3797
151 [Bu. ZhisE B .2 B/ 1#E % BBl % Bk % 35KV 20 18.8953
152 | Bl %3t Bl B g s/l £ 4 ERN-E S % 35KV 20 17.9347
153 [B . db b3 B b dh 3k 3/l £ & R % 35KV 20 18.5632
154 |JB L. 2% 5ok B L X Kb E & BBl Rk % 35KV 125 12.7645
155 [B 2% K3 Bl R £ 4 RIS % 35KV 12.5 12.7224
156 | B R Ak B L RS £ 8 BBl AR % 35KV 6.3 6.5108
157 | B W2 sk Bl A B sk % RN % 35KV 20 18.4424
158 | B W HE W3 B LB E L3/ 1#ER Bl E R 3 % 35KV 8 7.8511
159 [B . EsE Bl PR ER BBl A vk % 35KV 20 20.2591
160 [B . P s B P ER JB L. A 3 % 35KV 6.3 6.4254
161 [Bu.# Jél#i g R % 35KV 20 17.9579
162 |B . REE RE/ALEE JB LR % 35KV 10 8.9821
163 [35kVEg & 2 i 3b35kViFIT £ & 35KV H 4 7 W 3k % 35KV 6.3 16




